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islemler Toplama

UYGULAMA - 2
a.(=5) + (-7) = 6. (-2) + (-1) + (+3) + (+6) =
b. (-3) + (-2) = p. (+8) + (+1) + (-9) + (-6) =
c.(-4) +(+2) = r(+7) + (+3) + (=6) + (-10) =

s

d. (-6) + (+8) = § S. (=5) + (=7) + (+8) + (+4) =
e.(+3)+ (-9 = % S. (+3) + (-5) + (+4) + (-9) =
f.(+7)+ (-7) = § t. (+2) + (-10) + (+8) + (=7) =
g.(+4) + (-1) = u. (+12) + (-15) + (+13) + (-20) =
h. (-10) + (-21) = u. (-20) + (+22) + (-25) + (+26) =
L (=14) + (+31) = 1 V. (+8) + (=8) + (+7) + (-7) =
I. (+15) + (=27) = y. (=10) + (+2) + (-21) + (-3) =
j- (+8) + (0) = Z.(—6) + (49) + (+2) + (+1) =

Uygulama - 2’nin
cevap anahtarina
ulasmak igin
karekodu okutunuz.
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